Unptwwn puquuwywnydwl pwlbwalkp

1) tpynL wpnwhwjjnnipnLuub nLUw whwiynLuhl

1) (a+b)2 —a” +2ab+b"

2)epunL wpnwhw jnniLpntbuGph nwppGpnLp jwl

wnwyniruhl
2) ?ax—b)2 =a’ —2ab+b’

dGpinednidp wpunwinphs utph
Da’+2ab+b> =(a+b)
2)a* —2ab+b* = (a —b)2

3) tpunt wpnwhwjnnipnLbbubph pwunwyniuhukph

tnnwppGpnLpnLun

a>—b> =(a—b)-(a+b)
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4) EpunL wpnwhwjnniLpNLULGEph junpwbwinnubph

@ +b° =(a+b)-(a* —ab+b)

5) EpunL wpunwhw jnnLpnLuuGph junpwbwpnubph

thwl nLp sl

a —b =(a-b)-(a”+ab+b")

6) EnynL wpunwhwjnnLpnLtbutph gnidwph

(]c;:urltgi —a’ +3a’b+3ab* + b’

7) epynL wpnwhwjnnLpnLbubutph nmwppbpnopjwb

npwlwi

(a—b) =a’ —3a’b+3ab*> - b’




Nel . Quuwhnfuby

pwquwunwdh

(5b—4x)(5b +4x) =
=(5b)" —(4x)" =
=25b° —16x" :

(a-b)a+b)= a*-b°



Ne2. Quwthnfub

pwquwunwdh

(By+5)By-5)=
=(3y)" - (5)" =
—Qy * _25:

(a=b)a+b)= a*-b*



Ne3. QUthnlub[

’.wquwll wul

(a-3) =
—a° —-2:a-3+3° =
—6a+9:

(a=b)' = a’ =2ab+b’



Ne4. Quunhnfub

pwqdwunwuh

(x+4)" =
S M Y B

—x" +8x+16"

(Cl -l-b)2 = az + 2Clb + b2 MathNet.am




Ne5. Quuwhnfub

pwqdwlunwuh

2x+y)’ =
=(2x)" +2:2x-y+ y =
= 4x° +4xy+ y°

(a+b) = a* +2ab+ 1’



Neb6. dbininLét;

wnwnwnphgubiph

25b* —16x° =

= (5b)” — (4x)* = '
= (5b—4x)(5b+4x):

a’-b*=(a-b)(a+b)



Ne7. JdbGninLéty

wnunwnphgubiph

9y2 A
=@By) —-(5)° =
=(3y+5)(3y-9):

a’-b*=(a-b)(a+b)
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Ne10. Muwpqbiglby

wnunwhwjwnntynLup
) (e=2)c+3)-(c-1) =

=C —_2¢-i—6—((32—20+1)=
:Xz —|—_C—_6—X2 -|—2_C—i: \?C—7

2)3(a+c) —6ac =
= 3(a2 + 2ac + cz)— bac =
=3a” + 8dc + 3¢’ — 6 =
=3g* +3c% = 3a*+c?):
fa+b)= a® b (a+b] = a* +2ab+b* (a=b) = > ~2ab+b’




Nel1 .d&pinLéG)

wnmwnnhz3Ubnh : ;
8—a = 2" —a =

=2 —a)-(2°+2a+a’) =
=(2 -a)-(4+2a+a’):




Nel 2. dbninLéG)

wnwnwnphsUGph
x -y = (x")Y-(0') =
=(x" =) () +2y +()) =

=(x" =) - (F+x"y7+)°):




Nel 3. dtninLéG)

wnunwnphsubph

b>+27a’ = b’ +(Ba)’ =
= (b +3a)-(b" =3ab+B3a)’) =

=(b +3a)-(b*—3ab+9°):




Nel4.dtninLéG)

wnunwnphsubph

64c’ +a’h’ =(4c¢*) +(ab)’ =
= (4¢” +ab)-((4c”) —4c-ab+(ab)’) =

= (4c” +ab)-(16c* —4abc +a’b?):




Nel 5. Quuithnfubp

a)x+y ) —xp+ y? )=

=x+y°:
6)(x—2y)(x2+2xy+4y2):
e d S Saeet (7 T LA SR S Ll




Nel 6. Quwithnfubp

a)(x+y (2 —xp+ )=
=x>+y>:
6)(x—2y)(x2 +2xy+4y2):
= —(2y)Y =x"-8y°:




